Buffalo

You are to create a spreadsheet in Excell that allows the user to input the following pieces of information (beginning herd size, buffalo killed, numbers of settlers, and newborns for the year) and allows them to see the herd count, number of newborns, buffalo killed, and the herd count at the beginning of the following year. Continue for each year until the herd kill will outpace the new born calves (negative herd count at the end of the year).


Beginning herd size: 20 million

Buffalo killed: 30 per hour, 10 hours per day, 365 days per year, thousands of settlers(use only the # of thousands-ex: 45,000 = 45)

Number of Settlers: 85,000

New born calves: 40% of current buffalo population

	Input Section (10 PTS.)

Buffalo taken per hour ………………………… ###

Hours per day buffalo are taken  …………….. ###

	Number of days per year buffalo are taken … ###

Number of settlers …………………………….. ###

Beginning herd size …………………………… ###

Percentage rate of births …………………….. ###


           Results Section (50 PTS.)

Year 



1

2

3

4
         5

Herd at the start year 

###

###

###

###
      ###

New born buffalo

###

###

###

###
      ###

Buffalo taken


###

###

###

###
      ###


Herd at the end of the year
###

###

###

###
      ###

Percent drop in herd size
10.2%

21.3%

28.6%

###
      ###

THE PERCENTS LISTED ABOVE (10.2%, ETC.) ARE NOT THE CORRECT ANSWERS. THEY ARE TO SHOW WHERE AND HOW THEY SHOULD BE DISPLAYED

Action to be taken

YOUR OK 
REDUCE 
REDUCE
REDUCE

FOR NOW 
THE TAKE
THE TAKE
THE TAKE

Total Buffalo Taken

72,000,000

Total Buffalo Born

47,000,000

Part 2

Please make these enhancements:

A.. Using the formula for the number of buffalo taken and keeping all of the numbers in the formula the same, change each item below (only one item at a time) so that the number of buffalo taken will equal 8,000,000. 

Please place the answers to the following on the spreadsheet (provide 5 decimal places). This means to record the number off in an empty cell. Then return it back to its original.
1. buffalo taken per hour

2. hours per day the buffalo are taken

3. number of days per year the buffalo are taken

4. number of settlers taking the buffalo

B. Using the IF function and the percentage drop on heard size, create a formula that will check the percentage drop on heard size and display the following messages:


1. YOUR OK FOR NOW: If the percentage drop is below 20%

2. REDUCE THE TAKE: If the percentage drop is above 20%

C.  Using the SUM function, create a formula to add up the total number of Buffalo taken and total Buffalo born. 
D. Pythagorean Theorem

1. If you started with 20 million buffalo (Y axis) and used the year that the buffalo were completely gone (X axis), how far would it be from the 20 million to the year the buffalo were gone (Hypotenuse).
2. If the number of years when the buffalo were gone were to double (X axis), how far would it be from the 20 million to the year the buffalo were gone (Hypotenuse).

E. make a formula that finds the arithmetic mean of the buffalo taken over the years.

E. Charts


1. Create a pie chart using ending heard size for each year.
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2. Create a bar chart using the total Buffalo taken (1 number) and total 

    Buffalo born (1 number).
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